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A OHC(CH.):CHO 0.2 |0.82
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FES 10
& Hf 0.5
# CioH:Cl7 0.5
IR CHs(CHz)sCHs 400 1640
A F T2 C1:LCCC1CCICCI 0.02 0.21
R R CsCls 0.01 0.11
S F T C1sCCCls 1 9.7
& E CioHeCle 0.2
2 Efk CF:COCFs 0.1  {0.68
BN Fa ot OCN(CH:)sNCO 0.005 |0.034
e CHs(CHz)+CHs 50 176
= CeHia 500 1760
[ g CHsCOOCsHis 50 295
2" H—-2, 47

N (CHs)2COHCH: CHOHCHs 25 121
= P
LN HBr 3 9.9
Fiva HC1 5 7.5
e NH:NH: 0.1 0.13
Fiva HCN 10 11
LE HF 3 2.6
Wi H:0: 1 1.4
PRy H:Se 0.05 [0.16
Frit & H=S 10 14
¥om CoHi(OH): 2
4FE A1 2 4 (LFR) |In 0.1
w I8 0.1 1
I B Fe(C0)s 0.1 0.23
FiraCEE) FeO, FesO 10
8 CH:COO(CHz)2 CH(CHs): 100 532
3 AR (CHs):CHCH. CH:0H 100 361
[ CHsCOOCHCH: (CHs)2 150 713
£ 7 p (CHs)2CHCH-OH 50 152
23 CoHi:CH:0H 50 266
B CiHi0 5 28
B REEm CioHis(NCO)- 0.005 0.045
2—3pF Ao (CHs)2CHOCH: CH-OH 25 106
R PP CH;COOCH(CHs)= 250 1040
LR (CHs)-CHNH: 5 12
25 (CHs)-CHOH 400 983
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B ¥ ColsNHCH(CHs): 2 11
£ pp (CHs):CHOCH(CHs )- 250 1040
B 7 Ak @ p CH(CHs):0CH:CHCH:0 50 238
° Y H.C=C=0 0.5 10.86
or dmpi &4 (1

- Pb 0.05
i3
B A Pbs(As0:): 0.15
pign (143) PbCrOs 0.05
& ColliCls

i 0.2
i E i § LPG CoHen2(N=2~4) 1000 {1800
it Lill 0.025
¥l (- Fio) CoothioNs

§F 48T MgO 10
LR Cuotls0sPS: 10
iE— 7 = (CHC0):0 0.25 |1
G0 W () 1
2 Um0

Mn 5
&%)
S el N AR
CsHaMn(CO)s 0.1

)

A FFrACLEP  |Hg 0.05
A f L Hg 0.01
TEAAR (CHs)2L=CHCOCHs 15 60
ik CH>=C(CH; )COOH 20 70
4—°5 ¥p CH;0CsH:OH 5

L BT g CH;COOCH; 200|606
Ao CH,C=CH 1000|1640
BT iy CH>=CHCOOCH; 10 35
ik CH=C(CHs)CN 1 2.7
BN CHs0CH-0CHs 1000 (3110
" iR CH;0H 200|262
T o CHNH: 10 13
TR A CH;(CHz)«COCHs 50 233
N—7 iz CoH;NHCH; 0.5 |2.2
AL CH:Br 5 19

LI Sl CH;COCHs 5 20
LR CH,C1 50 103
2— ¥ AP f |CH=C(CN)COOCHs 2 9.1
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v AR = CH;CsHun 400 1610
v Ak R CHsCsHiOH 50 234
v ATk R CH:CsHeCO 50 229
- R E

CHsCsHiMn(CO)s 0.2
(143)
3,3 - F-4,4 -=

CistizCLaN: 0.02 (0.218
Ao
4 4-- 2§ p@-F
. OCNCeH:CH:CsH.NCO 0.02 (0.2
” pr CHsCOC-Hs 200 590
EE A CsHis0n 0.2 1.5
YT fa HCOOCHs 100 246
v T CH;NHNH: 0.2 0.38
oY CHs1 2 12
v AR AR CHsCOC-H:CH(CHs)- 50 234
4—"#—2—*p |(Cls)CHCHCH(CH:)OH 25 104
- CH;COCH(CHs )2 50 205
PP Ay CHsNCO 0.02 [0.05
S N CH;COCH(CHs )2 200 705
v L fE H:CSH 10 20
AR RT fy C:H>-COOCHs 100 410
LIS P LR TN (CH:0)2P(S)0CsH:NO2 0.2
v v CHs(CHz)2COCHs 200 705
L SR N (CHs)sCOCHs 40 144
a-" AFCF CsH:C(CHs)=CH: 50 242
ZHF 3
4 2B & (i

Mo 5
435
v ok C:H:ONH 20 71
A CRE ) CrHs~CsHio 100 400

3 CioHls 10 52

a—Fh= CiotiNH:
B— %= CiotiNH:
o gHrABETL

Ni 1
P (g3
ol iy (N

Ni 0.1
&35
T 5 & Ni(CO 0.001 {0.007
g (Fv7) CsHiNC4H:NCHs 0.5
Fg HNOs 2 5.2
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_§g NO 25 31
$Hal s NOCiHNH: 3
s CiH:NO: 1 5
e 3 CsHC1(NO2) 1

A —p w2 3 @ [H(CHo: NO:

PR CH:CH:NO. 100|307
EE R NO: & N:Os 5 9
BT 1 NFs 10 29
AT CiHs(ONO2)s 0.2 |2
Ao - (CH:ONO:): 0.02 [0.12
ATz CHsNO: 100 250
177 CH:CH:CH:NO: 25 91
2-H i % CH:CHNO:CHs 10 36
e NO.C:H.CHs 2 11
1 N:0 50 90
T80 ) Cill 200 |1050
~EE CuCls 0.1
25 Colls 300 |1400
b FF (B ) b

B F gk (B)  |0s0s 0.0002 |0. 0016
¥ (COOH):. 2H:0 1
PR OF: 0.05 [0.11
L5 0s 0.1 0.2
TH 0 BT 2

= v CellNCl or CiHuNa( CHiS00): 0.1
= (C2H:0):PSOCHNO: 0.1
I miz Bl 0.005 [0.013
S CollC1s 0.5
IEpEELD CiCL:OH 0.5
A CH:(CH:):CHs 600 |1770
BE O A C1SCCLs 0.1  {0.76
B F R CIF0; 3 13
@ CoH:OH 5 19
n gk CrHNS 5
#o¢oox CoHi(NHL): 0.1
Foou Coll:C:Hs 100|434
TR A (CiHls):0 1 7
TRk A CoH:0CH.CHCH.0 1 6.1
g CoH:NHNH: 5 22
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¥ RLfR ColsSH 0.5 2.3
F % CoHsPHe 0.05 ]0.23
AR T P (C=H:0)2P(S)SCH-SC=Hs 0.05
LS (CHs0)2P(0)0C(CHs)=CHCOOCHs 0.01 0.092
k£ F COCle 0.1 0.4
L Pl 0.3 0.4
e H:PO: 1
* p 0.1
ERENRLY -2 POCLs 0.1 0.63
EE WY 5 PCls 1
I F it B P:Ss 1
=N LYo PCls 0.2 1.1
MF -V pE CsHa(C0O):=0 1 6.1
- ¥ CsHli(CN): 5
EARL CsH2(OH) (NO2)s 0.1
ZEiFta CaHioN2. 2HCL 5
(4t ) &% Pt 1
g Tl @ag (4

Pt 0.002
3
SR 0.01
i CH;CH:CHs 1000|1800
P CH:CH:CO0H 10 30
1—-ppE CHsCH=CH:0H 200 491
B—f M (CH2):L0
P by CHsCOOCsHr 200 835
AP iy CoHNOs 25 107
B R AR NO:CH-CHNO:CHs 0.05 [0.34
=T CHsOCH-CHOHCHs 100 369
R CHsHCNHCH= 2 4.7
AT 5

PR CsH:N 5 16
fir CoHi0: 0.1 0.44

F¥-p (33%)  |CHi(OH): 10 45
EACRE D F R &

Rh 0.1
i P
LICE T LR LA

Rh 0.01
#,ﬂ
A A CasH206 5
ity (mt Se 0.2
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i SeFs 0.05 ]0.16
r & R SiHs 5 6.6
CR Y R R LA

Ag 0.01
gy (gst)
R NaNs 0.11 0.29
L FifL & & NalS0s 5
i o fagh FCH:COONa 0.05
LY NaOH 2
&4 SbHs 0.1 0.51
#5540 B A 100|525
Fef CH>=CHCsHs 50 213
- F v S0: 2 5.2
- & Y SFs 1000 5970
- & S:Cle 1 5.5
F e H2S04 1
I & i SeF10 0.01 0.1
P SN o SF4 0.1 0.44
EuR i Y SO:F- 5 21
FE (2 g rmaia) |Mg[SiOn](0H): 2
o EH2FEEE |Ta 5
fﬁ;gﬂg%(wﬁ% 0.1
)
3 (CaH50)4P:07 0.004 10.047
Bz ¥ (CoHls)2CeHa 0.53 |5
111> 2—24%

CC1sCCLF> 500 4170
—22—Z &
1:1°222—-24%

CCL:FCC1:F 500 4170
—1>2—-dce=
1122 2—24%

‘ CHCI.CHC1- 1 6.9

[
T F L CCl1:=CCl. 50 339
> FE CioH:Cl1 2
vz e Pb(CeHs )4 0.075
w0 (1ERE) Pb(CHs )4 0.075
g vk (CH2)40 200 590
v " A gk NCC(CHs)2C(CHs):CN 0.5 28
P e C(NO2)4 1 8
EARE 4 NaiP:0r 5
[y 94 HSCH.COOH 1 3.8
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F LA SOCl2 1 4.9
#E e [ (CHs)2NCS]2S: 5
B2 R L

Sn 2
#3)
i £ (E73) |Sn 0.1
F () Sn 2
- F 4 Ti0: 10
M ow Amyeen H

(CHsCHiNH: )
R
M- R CHsCsHaNHe 5 22
B — 7 g CHsCsHaNHe 2 8.8
L CHsCsHaNHe 2 8.8
i3 CoHsCHs 100 376
24— BYRYYF
22 06— #F & |CHCHa(NCO)2 0.005 0.036
3
F M CioHioCls 0.5
i T i (CiHs)sPO: 0.2 2.2
iR CC1:COOH 1 6.7
1:24—=%% |CHCls 5 37
1:1°1—=%¢2"= |CHCCls 350 1910
1>1>2—=% 2" |CL.CHCH:Cl 10 55
ZFLY CHC1=CCl: 50 269
5" %=(F7) CHCls 10 49
ZEFF CioHsCls 5
12 3—=4%p "% |CLCH:CHCI1CH:C1 50 302
121> 2—-—24%—

CC1:FCC1F> 1000|7670
12 2—=z42%
z oz (Clls)oN 10 41
Z &S = CBrFs 1000 {6090
12 4-h¥zp

Coll10s 0.005 0.04
i
ERL S (CHs)sN 10 24
=3 (CHs)sCels 25 123
LREEE=Z 7 iy (CH;0)sP 2 10
24> 6—zZ#A"
N CHsCsH2(NO2)s 0.5
E
Z AT E AR iy CoHz1i04P 0.1
ZF AR (CeHls)sN 5
BEFL = ¥ i (CsHs)5POs 3
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o ABP L (1
W

5

B3)
o TR B (1

W 1
)
SN 100 556

CioHis
B TR g

U .0.2
&3t)
B AR L4 (0

U 0.2
&)
g3 CHs(CHz)sCHO 50 176
ESE TR 2 2, V205 0.5
ERE T o £ V205 0.1
ﬁ#ﬁi 2 Jbﬁ fig CH:COOCH=CH= 10 35
N2 'fﬁ CH.=CHBr 5 22
ic 'fﬁ CH.=CHC1 3 13
ZF itk 'fﬁ o ’fv" CH-CHOCsHs0 10 57
2 ’fﬁ AT F CH2=CHCsH:CHs 100 482
R F CigHis04 0.1
A 5
- v ¥
(zm, B 2 ‘]f%"_ CoHa(CHs )2 100 434
)
g a3 (CHs)2CsHsNH: 2 10
oo BB AL

Y 1
(riges)
Fivg o (BT ZnCle 1
BLpL A (AR ZnCr0s 0.05
Fivg (%) Zn0 b
g bp (ngy) | 5

24




